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Name Date

Variables and Equations

Solving Basic Equations

..................................................

12x+3=123
12x+3-3=123-3
12x=120
x=10
Solve each equation for the given variable. _
1. 4(x-6) =8 LR 2. 4+43g="-14
3. 14a+5-8a="1 4. e +6-11e="8
5. 9r+5=-22 ’ 6. 2m-9-8m=-27
7. b+9-2b=6 8. 4/ - 9j+3=-32
9. 5(j-4)+j="8 10.%1+6,=2
1. 3d-5-2d=-9 12. 5+6d+3=34
13. 2k+3(k+4)="3 14. 5(m-3)+2m =27
15. j+5/+2="14 . 16. 7t-3+4t="25
17. 4(c+2) =28 18. 12k-3(5+5)=54
19. 3e+4e+1=36 20. 6r+12-8r="2
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Name

Variables and Equations

Date

Solving Equations with Variables on Both Sides

............................................................

6x-7=x+33
6x-x-7=x-x+33
5x-7+7=33+7
5x=40
x=8

Solve each equation for the given variables.

1.

3.

1.

7-6a=6-7a

3x-3="3x+"3

.9a+5=3a-1

5t+7=4t-9

~7¢+9=c+1

5. .1
SX+3=2x+15

2.3c-12=14+5c

4, 2x-7=3x+4

6. 8(x-3)+8=5x-22

8. "10x+6="7x+"9

10. 2x+6=5x-9

12. 5+ 3x=7(x+3)

13. 12Zm-9=4m+15 14. 2(x-4)+8=3x-8

15. =6 -("2n)=3n-6+5 16. 42y —4)=5y+2

17. 2(r-4) =5[r+ (-7)] 18. 6(x—9) =4(x - 5)

19. 4(t+5)-3=6t-13 20. 4e-19="3(e+4)
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Name

Date

Equations

Simplifying Expressions

F 23w+ 2b)=6W+2.2b= 6w+ 4b l

Expand each expression using the distributive property.

1. 75(2s +2m) = 2. 4(2d + 6b) =
3. 74(j+k+g)= 4. 2(~t +4e) =
: 5 7/3y-8)= 6. 6(2g +y) =
"] 7. 43+ k) = 8. 6(3v +50) =
9. 2(t-6q) = 10. —53w + 5e) =
; 1. ~5[7h + (~3p)] = 12. —3(8g + 13q) =
13. 3(10e -+ 3f) = 14. 3d(-nm +7) =
66 CD-104315 « © Carson-Dellosa



Name Date

Equations

Simplifying Expressions
2(x+3y)=2x+ 2+ 3y=2x+06y

s
N

Expand each expression using the distributive property.

1. 4Q2r+ 6y) = 2. 23p-3p)=

3. ~6(2b +3¢) = 4. 7Cc+6d) =

5. 2(x-12) = 6. 122y +5w) =

7.32+nN= 8. 3w-4)=

9. 8ly + (-2X)] = 10. 5(2 +13y) =
11. 2k[~xy + (8)] = : 12, “72x+9) =
13. 5Q2y + 5x) = 14. 3(x+2y+2) =

CD-104315 » © Carson-Dellosa
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a

Equations: Two-Step Solulions™

b

Name
Daie

Find the LOM for each eguaiion, when needed. Then solve.

w

+ 2x = ~183.5

.5

e =° 15 = 18
3

1o — —

(6. 4y - 73 = 725

e file torms, Then solve.

id & . -
ig. 3¢ + Iy - ¢ = 7h

16.

N

N

18,

(821

7x + .

Solve eguad

+ 6x = 38.5

2. 2k - 6 =38 3. 24.1
F%ﬁké’:'fs 5. =L +

8. 0.5n + 2 = 8.5 g 3y - 11 = 25
-5 -
it. 3.6y + 3.2 = 15.8 12, — - 4 = 710
e 3
14, 3a + 2.1 + da = T0.7 iG. Br+ 2r - 1 = 736
- s g 2 ;
7. 5y =1 - 3y = "5% ig., 9d - 2.2 — 10d = 6

10¢c —

20¢c =

90

B
et

= =
ey 2X =5+ X -5 a O -
¢ —_ - - Al - —— oy
_-2. a = G.O P sl 7 = J
0 4
- 1 [n}
2/ / 2 S Eay Qs 2 o
e . 2 By - 3x - 3 = 4.2
2.1 a
s AR AR R P RS TR o A AT RN T 2 2T A A AL AR A

46
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Multiplization and Division Name
N e, ;.
(' Equations Date
S E—
Solve and cheek each sequation.
1. 6q = 36 2. 3a =0 3. 7d = 98
4, 4r = 28 5. 12a = 60 8. 8x = 24
- b Z . S
7. 4 =7 8. 5 =16 9. 57 =6
q0. Jo _ - qq Mo 10 N _
10. = =3 . 5= =72 12. = = 31
13. 6f = 48 14, 6 = % 15. 4n = 3.2
C = —
16. 50 = - 17. 12a = 60 18. 9d = 27 |
!
; y . d i
19. 0.07m = 70 20. 15 = 5r 21. 55 = 40 |
|
% n
22. —— = 0.15 03, —= = 1, 4, = 14
22, 555 = 0.1 28, o 6 24. 98 = 1

Write an equation for each. Solve and check,

25. Seven times a number is 49. What is the number?

How many times 9 is 277

Y]
_Cr’;

N
=g

A number divided by 6 is 9. Whai is the number?

Each of 12 studenis received an equal part of
$48. How much did each student receive?

g
&0

9. It one book costs $3.75, how many can a
person buy for $67.50°?

U. A certain kind of designer jeans cost 2.4
times as much as an ordinaiy pair of jeans. If
the designer jeans cost $23.88, what is the
price of the ordinary pair of jeans?

A T A T S s s E Y R rc—



miy eyt m Ty

Maich the name of the proparly or slement with an example of iis ay

Qy
—

(€3]

+

1. Comrmuiative Property of Additicn

2. ___ Associative Property of Multiplication b,  7(400
3. __ Distributive Property G 9278 % 1 = 9278

3 ldentity Element of Addition d, 4.6 x 14 = 14 x 4.8

[S]

~ Commutative Property of Multiplication e. 12 +97 + 8 =97 + 12 + 8
b. Associative Property of Addition . 8 x (5 x 3) =(8 x5 x3

i
1
Compirie. Simplify by using ihe number properiies whersver possible.

8. 24.7 + 8.6 + 5.3 = 9. 18 x (200 + 2) =

20, (5 + 8) x 3 + {9 ~ 7) x = 29. 5 + 4 w7 - 6 =
22, 5 + 8 x 3+ Q) -7 x 1 = .. 23, (5 4+ 4) x 7 -8 = e
L4283 w12 =86 —d v Vo= 25, B + 4 x (7 - B) = ___ _




1. 16x%y° + 19x3y° 2

3. (17¢ - 4dy - (Mlc + :cl) 4.

8. lg7pd ~ -§~cc/) + (%pq - :—\m’) 6.
walal.

). —28a® + 172 + 5 10. 8xy +

i ila - 7
2. 11.3x%2 —- i3.9x + 15.8

1212
35pH2

N

i~

Qy
nN
I

. 16r = 12p
27p + 19

[=el

146, 11¢3 - 13

7¢® - 15

19, -9xy

—-9xy - y?

20.

2
+ o) + (12ab - 4c)
o
23x + 14) + (6x° 8)
-5 7 oo -8 3 o .o
(515 + ymin®) - (T5rs + =5 m2n?)
v 1.53%) ~ (2.3s — bre)
1 F T o DE T 1 2
| 47m= — 36mn + 1in
2 y 55 2
1eim= - 8n
14, 57.6¢%d? + 18.7¢d ~ 4.5

125x%y +
90X~y —

57xys - 13xy
18xy?

96.7m?2n?
14.3m?n?

+ 13.7mn - 105.1n%
- 11.3mn - 13.9n2

4

ise with Lesson 15-2, texi pages 418~ 419.
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[R)

= 9%« 1 = 3 - e By 2t
2 ; s s, Do 3
2 et 43 i f‘ \."fll_iL]ll = DX oD o e e e e S
a + 10 - 3a% 10x° + 9x% + 3 « x% 4 2
. 7. i 0 A
+ 8 - Bac + i
3% 0 - * ) .‘(.»'-5“1/ T :(\y 2 ;L/b' & .,:L\(:)')I,Q R ;\"[)_‘Vu
- s - . ] —~ - T R -
KRN wo polynomials is 8a® —~ 7. K one of the polyne
- 20 ~ 1, what is the ? e e e e e
R 17. - S
3%, atriang!s
2 o . ' s il Bras
X 4+ 8x - 17, 8x + 11, and ax2 — e
2
2 /) i~ 2 A %l o~ e T =a '{
34. The lengih of each side of a squars is == + 1.
Find the perimeter of the square. —

144
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5-5 Subtract Polynomlals

aaaaaaaaaaaaaaaaaaaaa

- Name Date

r’ )
To subtract polynomials, add the opposite of the subtrahend. You
can subtract polynomials horizontally or vertically.
Subtract: (x2 + 4x + 7) — (—2x? — 3) Subtract: (x2 + dxy — 5y%) — (—2x% = 3xy + 4y?)
Subtract polynomials horizontally. Subtract polynomials vertically.
(x% + 4x + 7) — (—2x% — 3) x% + 4xy — 5y*
= (x2 + 4x + 7) + (2x? + 3) —<— Add the opposite. —(=2¢% = 3xy + 4y?)
= (2 + 24?) + 4x + (7 + 3) <— Group like terms. To subtract, add the opposite.
= 3x? + 4x + 10 <— Combine like terms. x? + 4xy — 5y? <«— Arrange in columns.

) ) ' + 2x% + 3xy — 4y?
So the difference is 3x? + 4x + 10. 322 + Tay — 92 ~— Add.
So the difference is 3x2 + 7xy — 9y%.
\. J

Find the difference horizontally or vertically. Write the difference in standard form.

1 (7k + 6) — (—2k + 3) 2.(=32+7) — (?*+4)

(7k + 6) — (—2k + 3) = (7k + 6) + [—(—2k + 3)]
(Tk+6)+ 2k —3)=Tk+2k+6—-3

9k + 3
3, (17K — 23) — (9K2 — 25) 4. (2 + 6) — (332 — 2)
5.(7x* —12) — (4x* - 21) 6. (x* — 8x) — (4x — 5x?)
7. (32 + 2x) — (4x — 6x7) 8. (722 — 24y?) — (—11:2 — 12)?)
9. (-5p* + 13¢%) — (9¢* — 22p?) 10. (4% + 9ab) — (—4ab + 24?)
11. (4a%b? + 6a) — (9a?b? — 3a) 12. (4ab® — 3a?) — (9ab? + 24?)
13. (2x2 + 6x — 14) — (8x? + 11x + 12) 14. (x2 + 19x — 4) — (6x% — 8x + 13) -

:Chapter’5 - KET),




aaaaaaa

difference horizontally or vertically. Write the difference in standard form.

JE=f+4) - (=82 +3f-2) 16. (3x% — 9x + 13) — (722 — x + 11)
(2= f+4)+ (82— 3f + 2)
(2 + 83 + (== 3f) + (4 + 2)

92 —-4f+6

17. (42 + Tx = 3) — (2x2 — Tx — 2) 18. (2x% + 9x — 6) — (3x% — 3x + 6)

19. (3x% — 2x + 4) — (—3x2 + 4x — 2) 20. (5x3 — 9x — 22) — (7% — 4x — 9)

21. (32 — 6t — 8) — (132 — 10¢) 22. 222~ 9z + 5) — (322 + 17)

23. (—3xy* + 4xy — x?) — (Sxy* — 6xy + x2) 24. (—6¢* + 4d?) — (3% + 1lcd — 24?)

25. (—2x% — 8xy + 3y%) — (7x% — 12)?) 26. (Twv? — 9w — 6wv) — (4wv2 + 2w + 6wv)

27. (Ted? + 4d — 2¢) — (3cd? — 6d — 2¢) 28. (2x% + 4xy — 7) — (4x% + 3xy — 11)

Problem Solving

Write a polynomial in simplified form to represent each situation.

29. Kina sold 4 more than three times as many 30. Mrs. Vargas is 4 years less than 4 times her
tickets as Layla. Tori sold 7 less than twice daughter Ana’s age. Mrs. Vargas’ son Leo is 3
as many as Layla. If Layla sold ¢ tickets, how years more than two times Ana’s age. If Ana
many more tickets did Kina sell than Tori? is a years old, what is the difference between

Mrs. Vargas’ age and her son’s age.

31. The sum of two polynomials is 3x2 — 2xy + 6. One of the polynomial addends \}
is x2 + 3xy + 4. What is the other addend?
J

a
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- Multiplication of Polynomials* Name
Date
To multiply polynomials: (x - N+ 8 = 2
o Distribute each term of the first = (X X))+ (x - 8)+ (=7) (x) + (=7) (8)
* polynomial across each term of = x2 4+ 8x -~ 7x — 58

the second.
o Simplify the products by combining
any similar terms.

x2 + 1x - 56

x2 + x - 58

fl

1)

Multiply.
1. (x+3)(x+4)\ 2. (y+ 1) (y + 2) 3. (x - 7)(x - 8)
4. (y - 10) (y - 8) 5 (a+13)(‘a—5) 6. (b - 9) (b + 8)
7. (c+ 12) (e - 7) 8. (d - 15)"/('; ; 3) S (m+8) (m+5) !
10. (1 + 14) (n + 7) 11. (a - 10)(a + 10) 12. (b + 16) (b = 16)
i3 (c + 12)(c + 12) 14. (a + 13)(a + 13) 5. (x - 11)2
16. (y - 17)2 | 17. (_SX + 5) (2x + 3) 18. (7x + 2) (6x — 5)
19. (2x - 9) (3x - 4) 20. (2x + 11) (x - 9) 21. (8x - 8) (3% + 7)
o, (9% + 2) (8x - 5). 23. (4x + 3) (x - 6) 24, ("5—;_ 2) (n _ 5"
5. (6x + 11) (6x — 11) 26. (11.)( + 3) (11x - 3) 27. (7x + B)(7x + 5)
8. (8x + 7)(8x + 7) 29. (10x - 1)2 30. (15x - 2)2
1. (7a - 2b) (11a + 3b) 32. (4a + 13b) (2a - b) 33. (13a - 5b) (1Sa.+ 5b)

'se with Lesson 15-5, text pages 422423, Cipyright © Sadlier-Oxford 147



N

Multiplication of Polynomials* Name
(7 (eon’d) Date
Miultiply. Simplify the expressions.
34. (m + 2n) (11m - 3n) 35. (8a + 15h) (6a — 7h) 36. (5a + 7h)2
87. (m + 3n) (m - 3n) 33. (6c'+ d) (6¢c - d) 39. (11a - 6h)2
40. (x + 2) (x® - 2x + 4) 41. (¢ - 14d)? 42. (y + 4) (y? - 4y + 16)
43. (a - 5)(a® + 5a + 25) 44. (b - 6) (b% + 6b + 36) 45, (x + 2) (X2 + 4x + 4)
48. (y - 4) (v®2 - 8y + 16) 47. (a + 6) (a® - 3a + 1) 48. (a - 7) (a% + 2a - 3)
49. (a + 1) (6 — 52 - a?) 50. (8 - b) (b% - 6b + 5) 81, (x + 3)(x + 5) - x2
52. 9x% - (2x + 5) (3x - 4)
53. x[(x + 4)(x - 4) + 5]
54. (a + 5)2 - (a - 2)2
4

Solva. -
55. Find the area of a rectanye if its length is

(8x — 7)in. and its width is (x + 9) in.
58. A car travels at the rate of (2x - 5) miles per hour.

How far can it travel in (6x — 7) huirs?
57. Find the area of a square if the lengthof a side is

(11x — 2) cm.
58. . Find the area of a circle in terms of i its radius

is (5x - 4) cm.
148 Copyright © Sadlier-Oxford
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5-3 Modeling Polynomials

PR

Date

f

Polynomials can be modeled using algebra tiles.

]

|

|

8l =

II

BN

Algebra tiles can be used to model combinin
Model 2x? —3x + 2+ 2x — x2 — 1

&l First model the terms.

l
|

g like terms of polynomials.

Then form zero pairs.

o
2% —3x 4242 —x2 —1 —3x+2x +2-1
Remove the zero pairs, and
write the resulting polynomial.

So2x2—3x+2+2x—x2-1=x2-x +1.

Model each polynomial. Simplify if needed.

1.3x2 - 4x + 2 2.6x —7 3.4x% + 3x 4. -2x2+T7x -5

5.x2-3x+8 6. 6 + 3x2 7. -7x +5 8.7x -4

9. —3x2+8 10. —4x% +3x — 2 11.3x2 - 3x + 3 12.6x — 7
B.7x2 -4+ 2x —x+2 +1 14.3x2 —4x2 + 2x — 3x — 6 + 1
15. —x2 + 3x2 — (=5x) + 2x — (-9) 16. —x2 —

Name the polynomial modeled by the algebra tiles.
17. =Y

(—2x%) + x — (—4x) —3 - (-2)

e wnsmBl




Name the polynomial modeled by the algebra tiles.

20.

I

|

21. e I

Use algebra tiles to help you combine like terms.

23.2x+ 7 —6x + 2
(2x — 6x) + (7 + 2)
—4x + 9

26.4x -3 -9+ 7

20,12 - 9x + 3x2 —x—6

32.x2+4x —6—5x>*—2x+3

35.2x2 + 3x — 6x2 + 10x + 8

et fol =ty
\

Problem Solving)

2M.22—Tx+3+4x2—T+2x 25.-10x +4+x2+2x—6

27.x2+1lx+4 — 9% + 2 28.3x2 —2x +4 — x2 + 6x
30. 4x2 + 3x — 4x — x2 31.2x +3—6— 4x
33.3x2+4x —x2—3x+3 34. —5x + 9x2 — Tx + 2 — 4x?

36. 22 +3x+4—4x2—-2x+4 362 +4x-3-32—-2x+1

Write a polynomial to represent each situation. Use algebra tiles to

help simplify each polynomial.

38. The length of a rectangle is 3x + 2, and its 39. Sheila is x years old. Cara is 2 years older
width is 4x — 6. What is the perimeter of the than 3 times Sheila’s age. Flo’s age is the

rectangle?

square of Sheila’s age. What is the sum of
their ages?

40. Henry is having trouble with combining like terms in his math class. He is

also a very visual person when trying to learn new skills. Using algebra tiles,
4 or your own model, how could you show Henry how to simplify the polynomial
¥ Al — 6+32 —5x+9 —2x —3x2 + 67




j \: ”(O,;( 1 o Name
1_7_ | Daie
Hu e area. (Use 3.14 foi w.)
T 2, TN
/\IO cm- 3 mm
5
NS
A=__ A= A=
Complete the chart. Round sach answer o the nearasi whole number,
Radius ~ Diameter Area
4, 7 in.
5. 42 mm
5. 22 mm
7. 6.3m
B. 40 km
8. 4 cm
0. 10 cm
wolve

1. Find the area of a race track that is 0.6 km

in diameter.

2. Tha circumference of a circle is 44 in.

What is the area? (Use 2—,-—2 for ar.)

e

The floor of a skating rink is circular and
has a raclius of 14 meters. What is the

area of the floor?

A radio transmitter sends signals 40 km in
every direction. Over what area do these

signals reach?
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6 months t¢

1 yard to 7 ieet
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i Dais
A
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g dimes to 3 quaii _— .
3Lt 400 mL i
20, 2 guariars o doll B o
50cmtolm .
250mL o bl
26. 4 days o 4 weeks
28. 20 minutes to 4 hours

(i

0 4 pints

3

quaris io

9 pints to 2 quarts

5mio 200 o




Name Date

Circumference of Circles

Find each circumference. Use 3.14 for .

I CIRCIRD

Find each circumference to the nearest whole number.

5.d=9m 6..d=2.lcm
7. r =6.1'cm 8. r=73mm
9.d=56m __ 10. d=63m

11. » = 2.8 cm 12.r =41 em

Find each circumfe’r_ence to the nearest tenth. Use 3.14 for .

13. d = 6.4 mm 14. r = 0.8 cm
15. r=5.6cm : 16. d=21.1cm
MIXED APPLICATIONS

17. A tabletop is shaped like a square with half-circles on two ends. 08m

One side of the square is 0.8 m. To the nearest meter, what is
the perimeter of the tabletop?

18. A sundial in a park has a circumference of 57 ft. Find the radius to the nearest foot.

NUMBER SENSE

9. When a number is divided by -3, the result is 12 more than the number. What is the number?

112
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Name

Date

Exploring Circumference of a Circle

Find the circumference. Use % for m.

1. diameter = 14 in.
3. diameter = 28 in.

5 radius = 7cm

2. diameter = 42 in.

4, radius = 14 in.

6. radius =21 ft

Find each circumference. Use 3.14 for n. Round your answer to the nearest tenth.
You may want to use a calculator.

T

10.

13. diameter =4 cm

8

11

12.

[EANE
[

.

14. diameter =9 in.

: 15. radius=15m

17. radius is 18 &

CALCULATOR

16. radius is 9 cm

18. radius is 20 mm

19. How could you find the circumference of many different circles
with a calculator without punching in 3.14 for every problem?

111
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] i Name
e f Date s
SR i
Find the area of cach. y
1. 2 3. :
7 cm ] 9.1cm :
A RN N 18.4m
' y N '
//1 4 cm \ 3o PN ;
/ ' \ i =i N !
b} \ : 12.5cm :
11 em / a_.f
3.9m

/"\ b A A e A = SO,

Find the area of each rapezoid. Virite the area in the unit of meas ure indicated.
Change uniis where necessary.

4. bases: 9 cm, 23 mm 5. bases: 4 2 yd : 6. bases: 4 m, 600 cm
height: 8 cm height: 2 ft height: 30 m
Area: _cm? © Area: yd? Area: m?

Solve:

7. Atabietop shaped like a trapezoid has paraliet bases of 40
cm and 82 cm and a height of 34 ¢cm. Find the area.

8. Lauren placed a sguare lamp, measuring 25 ¢cm on each
edge, on a table shaped like a irapezoid. The table had

arallel bases of 32 c¢im and 48 cm and a height of 34 cm.
Find the number of square ceniimeiers not covered by
the lamp.

9. Abulletin boaid is shaped like a trapezoid. If the bases
are 45 cm and 85 cm and the height is 40 cm, whai
is the area?

19. Find the area of a trapezoid having a height of 32 in. and
parallel bases measuring 49 in. and 61 in.

1. Airapezoid has a height of 3 yd and paralle! bases of 7 ft
and 10 1. What is its area?

2. Aline segment drawn parallel to the 12-cm height of a
right triangle divides the base into segments of 3 cm
and 6 cm and the hypotenuse into segments of 5 cm and
10 cm. This produces a new right triangle and a trapezoid.
Find the area of each. (Hint: Use proportion to find the
length of the missing side/base. Two sets of answers o
the area problem are possible.)
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— )
4 Name
i Date

Find the area of cach trlangle

A 2. 1 35
/i ~
/ ' \ \\_\ 3 —. N
/o : s % in e
/ 13em\ 9 ft \\\ \ isom
/ E \ \\\\\ \t////
/s 1 i
/ j_\, n b
18 cm 11 ft
= A = A = A

o
S

—
S ———

o

©
e oy mmmmn 3 S
. =
L -J»//
—

,_
Ny
o
=

5. 4m 3m
3, 18 cr 31 cmn
7. 3 dm 5.6 dm
&, 40 m 28 m
9. 52 cm 90 cm
10. 3 km 1.6 km
11 6 57 ya 15 yd
12, 151t 18 11
Solve.
13. Find the area of a triangular sail if the base is
3 m and the heightis 5 m. e e e S - .
14, How many squaia meters of decorative paper
would be used for a design macde of 6
triangles, each of which has a base of 60 ¢cn
and a height of 42 cm? R
15, A gardener planted flowers in a triangular
corner of his garden. What is the area of the
flower bed if its hase is 20 ft and its height is
16.5#t7?
18. The perimeter of an equilateral triangle is

18 cm and the height is 5.2 cm. What is
the area of the triangle?

“Hen with | acenn 11.2 tavi nansc ANR-2NC

Conovriaht © Sadlier-Oxford
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with Fractions

Name

5-16 Solve Two-Step E

Date

Solve: 1p — 16 =15
3P — 163 + 162 =15 + 161

20 =313
B =53
p= 61—3 =63

r To solve a two-step equation with fractions, solve as with integers.
First apply the Addition or Subtraction Property of Equality to
isolate the term with the variable. Then apply the Multiplication
or Division Property of Equality to isolate the variable.

Check: Use substitution.
Le3) - 16 215
1 12?
315 — 165 =15
15 =15 True

Translate and write a two-step equation.

1. Twice n diminished by 8% is 16.

2n — 83 =16

3. 26 is 4 less than % times a number, k.

5. Half m increased by 7% is 14.

Solve. Use substitution to check.
T.im +12=16
%m =4;m=8

Check: 4(8) + 12 = 16; 16 = 16 True

2 1 _ il
8. 1'5—b +3§—312

2.1is %more than 7 multiplied by x.

4. % increased by w times 6 is equal to —

2
10°

6. 43 is 11 less than % times a number p.

9.4 — (=3) = —12

10. 13z -+ =21

1L —4 = —3¢ + (—29)

2_2 5 k -
13. 22 =%y — (-3) 14.—1?-!—8—28

15. 15 = 24n + (-3)

12. -15% = =33y + (-33)

Chapter 5" EFF)




Solve. Check to justify your answer.

16.59 = % — (-17)

Check: 59 = —12 — (-17)
2
59 = 42 + 17; 59 = 59 True

_m _ 5l
17. —4 =2 - 23

Combine like terms, then solve. Check to justify your answer.

19. =55 + 15 + 35 = =5
25+ 13 = —5;5= 33

Check: —5(3%) + 1% + 3(3-;—) = -5; -5 = =5 True

_h_q1
21.4=4-11+

w[N

Problem Solving)

23. Henry made 39 birdhouses. Fifteen will
remain unpainted. He wants to paint the
rest. On Saturday he painted % of the

birdhouses. How many birdhouses, k, are
left to be painted?

_m_»1_0
20, -4=2-25—7

22. -3 +5-5¢=%

24. Seventy-eight students are in a chamber
orchestra. Thirty-two members play wind
instruments. Half of the other members play
percussion instruments. About what fraction
of the students play a percussion instrument?

S e
. Visualize each equation rewritten as an addition equation. Then write the number
¢ you would add to each side, and what number you would multiply on both sides to
- isolate the variable. (Hint: Think about opposites, the Subtraction Principle, and 3
multiplicative inverses.) ' 4
25.8 = % F—7 add to both sides, then multiply on both sides
26. —%a —21=29 add to both sides, then multiply on both sides ]
j 2.5 +9=49  add to both sides, then multiply on both sides '
Lt J
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Date

Name
r )
You may need to use more than one operation or property to solve an equation.
Multistep equations may also have variables on both sides. To solve these,
you need to isolate the variable on the same side of the equal sign.
Solve. Solve.
S5a - 12 + 6a + 13 = 34 3(=5x +3) =34 — 10x
1lla+1=34 <— Combine —15%x+9 =34 - 10x ~— Apply the
like terms. Distributive
lla+1-1=34—-1 <— Subtract 1 Property.
from both —15x + 9 + 10x = 34 — 10x + 10x <— Add 10x to
sides. both sides.
11la = 33 ~<— Simplify. —5x+9=34 ~<— Simplify.
11a 33 o -5x+9-9=34-9 ~— Subtract 9 from
11 ~ 11 <~ E“{;‘de‘d both sides.
oth sides — Gy — Simpli
by 11. S5x =25 ~<— Simplify.
a=3 < Simply. =22 ~— Divide both sides
by —5.
x=-=5 ~— Simplify.

Solve the equation. Check to justify your answer.
(Hint: Combine like terms then follow the order of operations.)

L4c+6¢c+5+2c=17 2. —2a— 8+ 5a=19 3.t+9+5t—2t= —51
12c +5 =17
12¢ =12
c=1
4.3x+6+7x-2+5x = —-26 5.3y —10 + 5y + 3y =45 6.4p—7—5p+2p = -3
7.8 +5—-5s=—1 8. -10m+6+4m—10=14 9.4 -8 +6g+6=22

Solve the equation. Check to justify your answer. (Hint: Use the
Distributive Property, then follow the order of operations.)

10. -2(x +5) =6 11. —4(c-3) = 48 12.2(3z + 4) = 20
-2x-10=6
—-2x =16
x= -8
13.3(2d +3) =39 14.9 - 5(p +2) = —16 15. -2+ 6(r—7) =10

4.8, pages 396-397. T
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Solve the equation. Check to justify your answer. (Hint: Use properties
to move and combine like terms on opposite sides of the equation.)

16.5x + 10 = —-9x — 4 17. =3t +7 =2t + 32 18.8p —6=54—-2p
14x + 10 = -4
14x = -14
x¥= =1

19.9 +2a = 4a + 15 20. -5(3n +2) = —12n + 8 21.2(b+3)=3b+6

22.32m+1)+4=4m+21 23.-(9—-5n)+n=—-4n+T71 24, —4(Gx +7) +1lx =x +4

Problem Solving

25. The drama club is making signs for its play. 26. Margaret’s class is running a car wash. It costs
Cindy made a total of 18 signs, which was $85 to rent the space. Supplies cost $0.75 for
2 more than 4 times the number that Jane each car the students wash. The students will
made. Jane made 3 more signs than Sam. make $5 for each car they wash. How many

cars does the class need to wash for their total
cost to equal the total amount they make?

How many signs did Sam make?

27. Marlene is going on a camping trip with 28. Mr. Robinson bought 3 boxes of crayons
a group of friends. She brings 3 boxes of for an art class he teaches, but had to throw
granola bars, plus 3 extra bars. Robyn brings 7 crayons away because they were broken.
2 boxes of granola bars and Wendy brings He received two donations from parents:
one box. They have a total of 57 granola Mrs. Bruce gave 2 boxes of crayons and
bars. If each box contains the same number Mrs. Rockwood gave 5 boxes. Mr. Robinson
of bars, how many bars are in each box? had a total of 153 crayons. If each box had

contained the same number of crayons, how
many were in a box?

L 1
29. ;C-2-(2x3 + 3x?) = =5 30. ?,—xi(6x3 —33x2) = —1

.
%Wﬂ
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